Chapter 2
Quadratic Functions and Equations

Section 2.1
Vertex Form of a Quadratic Function
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Describe the transformations of the parent function. Then graph the equation.
fu,Ql-u*-' JREgPRvEE .

’\ —7 La?t:l 4 1o
y=@@(x@)2 v

=

a. Vertex (-2,0) AT

b. Axis of Symmetry X= " e

c.or Minimum s

d. Domain (“0"7“}

e. Range [‘0’) CZ:]




Describe the transformations of the parent function. Then graph the equation.
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What is the equation of a quadratic function with vertex (-2, 3) and a
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What is the equation of a quadratic function with vertex (—21’,<3) and a passes
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